Econ 330

Fall 2002

Answers to Week 7 Questions

This answer may not be comprehensive. For a detailed explanation, we strongly recommend you to see your lecture notes and read the textbook by using Index at the end of the textbook. 

1. The t-account is the following.

	A
	L

	$200
	$100

NW $100


Net worth ration = 100/200 = 0.5. Debt-to-equity ratio = 100/100 = 1.0. The change in profits is (200-100)*0.02=$2.

2. The t-account is the following.

	A
	L

	$150
	$100

NW $50


Net worth ration = 50/150 = 0.33. Debt-to-equity ratio = 100/50 = 2.0.

Percentage change in market value of FR assets is – 0.1*5=-0.5 (decrease by 50%).

Percentage change in market value of FR liabilities is – 0.1*2=-0.2 (decrease by 20%).

Thus the t-account after the increase in the interest rate is the following.

	A
	L

	$75
	$80

NW $-5


3. It prohibited federally chartered national banks from branching across state lines. See p258.

4. (1) Excessive and destructive competition among banks, which had led to the payment of unduly high interest rates on deposits, and (2) the granting of overly risky loans, particularly those extended to stock market speculators. See p253.

5. Regulation Q, the creation of FDIC, and separation of commercial banking from investment banking. FDIC increased moral hazard (why?). Regulation Q contributed to disintermediation (why?). See p278 and p307.

6. It allowed unimpeded nationwide branching. The objective was to promote competition among banks. See p259 and p337.

7. The purchase and assumption method is the method of resolving a bank insolvency by finding a buyer for the institution. The payoff method is the method of resolving a bank insolvency by paying off the insured depositors (up to the $100,000 limit) and closing the institution. See p309 and pp335-336.

8. It (1) phased out Regulation Q, (2) established uniform and universal reserve requirements, (3) increased the assets and liabilities that depository institutions could hold, (4) authorized NOW accounts, and (5) suspended usury ceilings. See p331.

9. It allowed depository institutions to offer two types of deposit accounts such as (1) money market deposit accounts, which have no rate ceiling and permit six third-party payments transactions per month, and (2) Super NOW accounts, which also have no rate ceiling but are fully checkable. The objective was to enable depository institutions to compete directly with money market mutual funds. See p331.

10. It (1) created a new regulatory structure, (2) limited the assets S&L an acquire, and (3) required S&Ls to maintain adequate capital. The new government agency was the Office of Thrift Supervision (OTS). See p236 and p333.

11. It removed decades-old barriers between banking and other financial services by creating financial holding companies. See p338.

12. (1) Excessive risk taking caused by the moral hazard problem. (2) Bank regulators were hesitant to resolve insolvencies quickly, particularly when a large bank was involved (“too big to fail”). See p309.
13. Since the bank does not know the type of firms, it needs to take an average of the minimum interest rates, which is 11% (=0.5*18+0.5*4). This is the minimum interest rate that the bank will charge if the bank thinks both types are in the market. But the safe firm has no incentive to borrow money at 11%, so it leaves the market. Knowing this, the bank has no incentive to offer 11% since the bank knows only the risky firm accepts it. Thus the range will be between 18% and 20%. In this range, the bank and the risky firm are in the market but the safe firm is driven out of the market.
